Participant flow

Coverage

Enrollment

Allocation

Analysis Pupils

n=5,492

pupils
n=28,315

Total number of

(across 50 schools)
\ V.

] ]
N f N
Present in School Abseqt f.rom School/
Missing Form
n=7,214 n=1,100/n=1
V. \ V.
]
] ]
. - Assigned to Visit 2
Visit 1 Visit 2 due to Absence
n = 3,449 n=3,765

n=1,100

Visit 2 Feasible and
Present in School

n=2,396

Visit 2 Feasible and
Present in School

n=2,415

Visit 2 Feasible and
Present in School

n =681
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Baseline characteristics

Characteristic

Analysis Pupils

School Standard

6-7th standard

8-9th standard

10-12th standard

Number (Percentage)
2,661 (48.5%)
2,360 (43%)

469 (8.5%)

Gender

Boy

Girl

Number (Percentage)
2,240 (40.8%)

3,252 (59.2%)

Quiz Score (%)

Number of Correct Answers (0-16)

Mean (Standard Deviation)
Range
5.11 (3.03)

0-13

Percentage of Correct Answers (0-100%) | 31.92 (18.92)

0-81.25%
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Outcome measures

Characteristic

Analysis Pupils

Quiz Score after Training (%)

Number of Correct Answers (0-16)

Percentage of Correct Answers (0-100%)

Mean

(Standard Deviation)
7.57 (2.18)

0-15

47.33 (13.53)

0-93.75%
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Adverse events

There were no adverse events associated with this trial.
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